
TOO and ENOUGH 

TOO 

- means more than what is needed (znamená viac 
ako je potrebné – „príliš“)  

- TOO + adjective (prídavné meno)  

- with positive statements - zvyčajne sa používa 
v kladnej vete 

It’s TOO HOT to wear the coat. 

Je príliš teplo obliecť si kabát. 

He was driving TOO FAST. 

On šoféroval príliš rýchlo. 
 

ENOUGH 

- means sufficient (znamená dostatočný – „dosť“) 

- adjective (prídavné meno) + ENOUGH  

- with negative statements – zvyčajne sa používa 
v zápornej vete 

He isn’t OLD ENOUGH to watch that programme. 

Nie je dosť starý na pozeranie toho programu. 

We’re not walking QUICKLY ENOUGH. 

Nekráčame dosť rýchlo. 

 

1. TOO or ENOUGH  
Complete the sentences with TOO or ENOUGH and an adjective in the bracket!  

1. I can’t help you now. I’m ............................................... (busy).  

2. The shoes don’t fit me. They’re not ................................................. (large). 

3. This is really small sweater. Look. The sleeves are not ................................................. (long).  

4. Don’t eat the pasta. It’s ........................................................ (hot).  

5. I don’t understand the grammar. This exercise is ......................................................... (difficult) for me. 

6. Everything has been explained, so now it is .......................................................... (easy).  

7. It’s ........................................... (dangerous) to ride a motorbike without a helmet. 

8. He must take the bus to school. It’s ......................................... (far) to walk there. 

9. I can’t hear the radio. It’s not ........................................................ (loud) for me. 

10. Alice isn’t ........................................................ (tall) to be a model. 

11. They never stay in hotels on holiday. It’s ..................................................... (expensive) for them. 

12. He is ....................................................... (old) to play football with kids. 

13. My younger brother isn’t ................................................. (old) to watch this movie. 

14. It’s ................................................. (hot) to wear a coat today. 

15. He wasn’t ................................................. (strong) to lift that heavy box. 

2. FIND the expressions in ex. 1 

1. ťažká krabica ..................................... 4. ísť autobusom ..................................... 7. bývať v hoteli  ..................................... 

2. príliš nebezpečné................................. 5. byť modelka ..................................... 8. cestoviny ..................................... 

3. bez prilby ..................................... 6. nosiť kabát ..................................... 9. gramatika ..................................... 


